REASONING
MAINS

“ :’A):r\“ ‘2"'\‘ S B I @ L I C
\ A ’ |
_IFE INSURANCE CORPORATION OF INDIA

1=15=



EXAM GENIUS
ACE YOUR EXAM WITH EXAM GENIUS

Daily Current Affairs Pdf 01
Mains Reasoning Practice Pdf 02

Weekly current Affairs Pdf 03
u
Daily Current Afairs Quiz 04

=

Daily speed booster for guant 05



https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==
https://t.me/Exam_Genius_Official
https://youtube.com/@Exam_Genius?si=Kz-eFCbO49wyTEMr
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==

§ REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM 8

TABLE OF CONTENTS

D PUZZLE O1 (MAINS) >
D PUZZLE 02 (MAINS) >

i PUzZLE 03 (MAINS) >



https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==

@ REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM

PUZZLE 01 '

Nehru, Gandhi and Patel are three adjacent buildings. Nehru building is
to the west of Gandhi building, Gandhi building is to the west of Patel
building. Each building has a different number of floors with the lowest
floor numbered 1, the floor above it as number 2 and so on. The height of
the floor in each building Is the same i.e. the same numbered floor is at
an equal height from the ground. Only a few of the floors of these
buildings are taken and rests are vacant. Only one person can live on

each floor of each building.

Nikhil lived on the floor which was immediately above Shubham'’s floor
but in a different building. Shubham and Nikhil are in an adjacent
building. Shubham was to the west of Sumit. The number of floors In
building Nehru was 3 more than Abhay’s Floor number. Abhay was to the
west of Amit who lived 2nd from the top of his building. Neeraj was In
building Gandhi and the number of floors in his building was twice as that
of his floor number. Prashant lived on the floor which was immediately
below Pratap’s floor but in a different building. Vishal lived on floor 4 but
was not in Prashant’s building. Abhay’s floor number was twice as that
of Neeraj’s floor number. Amit and Pratap were not in the same building.
No building had more than 10 floors. Neeraj’s floor number was thrice as
that of Prashant’s floor number. Amit and Nikhil lived in an adjacent
building. Abhay lived on the floor which was immediately above Nikhil’s
floor but in a different building. Sumit and Prashant lived in adjacent
buildings. Pratap and Shubham lived in different buildings. Prashant
lived In Building Nehru.
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PUZZLE 02

Eight badminton players Kashyap, Anand, Saina, Sindhu, Gopichand,
Ashwini, Srikant, and Jwala, were born on same date but in eight
consecutive years from 1964 to 1971. So, each of them plays a game of

badminton on the occasion of their birthday.
Note:

1. The duration of their game is different such that the duration increases

by 5 minutes for the player whowas born in the succeeding years.

2. All of the them plays in a particular time slot also, the one who is the

eldest plays first and the one who isthe youngest plays last.

3. The one who plays at any time in (A.M), always plays before the one

who plays at any time in (P.M).

For example: If a player let's say Z was born in 1964 and plays from 9pm
to 10pm and then another person let say Y who was born in 1965, will play

from 10pm to 11:05pm.

Only two persons were born after the one whose game starts at 12:30pm.
The duration of the game of Srikant is 30 minutes. The difference between
the game of Jwala and Sindhu is 5 minutes. Only three persons are born
before Saina. The difference between the duration of game of Gopichand
and Saina, Saina and Kashyap, and Ashwini and Jwala is same. Ashwini
IS younger than Saina. Sindhu plays for maximum time. Neither Anand
nor Gopichand plays for 40 minutes or more. The person who was born

In 1967 plays for 35 minutes.
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PUZZLE 03

Sixteen persons whose name are according to consecutive letters of
English alphabets starting from A, sit in four rows but not necessarily In
the same order. Row 1 is in the north among the four rows. Row 2 is in

the immediate south of row 1 and immediate north of row 3. Row 4 is at

the south among the four rows. All rows are containing consecutive odd
numbers of people starting from row 1 and they form a shape like
pyramid. Only one person sits in row 1. The person sitting in row 1 facing
the person who sits in the middle of row 2. The persons who are in the
middle of row 3 and row 4 sit in the south direction with respect to the
middle of the person sits in row 2. Those who are at the end of the row
faces south. No two persons sit together face the same direction. Each
person is at same distance from each other in each row. No two persons
whose name starts with vowel sits either together or opposite to each

other.

C does not sit in an even number row. N sits in the same row with C but
not in the south of F. F sits middle of one row and faces north. K is an
Immediate neighbour of F and faces D. O does not sit at the middle of any
row. Two people sit between G and the one who faces H. E does not sit
In row 1. C sits fourth to the right of H. A sits second to the left of O and
neither of them sit at any end. Two people sit between B and |. P does not
face F. K does not sit at the left of E. M sits at north of A. The number of
persons sitting between G and J is smaller than the number of persons

sitting between L and O.
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ANSWER
PUZZLE 01

Floor no |Nehru Gandhi Patel
10 NOT NOT NOT
09 NOT NOT
08 NOT NOT
O/ NOT

06 Abhaya Amit
05 Nikhil

04 Subham Sumit Vishal
03 Neeraj

02 Pratap

01 Prashant

PUZZLE 02

1964 10.00-10.20 Anand
1965 10.20-10.45 Gopichand
1966 10.45-11.15 Srikant
1967 11.15-11.50 Saina
1968 11.50-12.30 Ashwini
1969 12.30-1.15 Kashyap
1970 1.15-2.05 Jwala
1971 2.05-3.00 sindhu
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DIRECTION & DISTANCE

.

cXAM

SET 01

A©@B means A is north of B
A%B means A is south of B
A$B means A is east of B
A#B means A is west of B

& means either 6km or 7km
? means either 8km or 11km

A*BC means A is the middle of points B and Ci.e., A @# B means A is north-west

of B
A@&B means A north of B either 6km or 7km

The distance between L and G is the same as the distance between T and M. The

Distance between QR is more than the distance between TM.
Statement:

L&A@ G Q@ R;S?#R_,M&ST, T &% S; G ?# Q; SK#G

1) What is the direction of S with respect to M?

A $

B. @

C. @#

D. %$

E. %#

2) If H*TM, What is the distance between L and H?

A. 20Km

B. T9Km a
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D. 18Km

E. Eitheraorb

3) Four of the following five are alike in a certain way based on the arrangement

and hence form a group. Find the one who doesn’t belong to that group?
A.LQ

B. SG

C.TR

D. MQ

E. SL

SET 02

A@B means A is north of B
A%B means A is south of B
A$B means A is east of B
A#B means A is west of B

& means either 11km or 6km
? means either 9km or 8km

A*BC means A is the middle of points B and Ci.e., A @# B means A is north-west

of B A@&B means A north of B either 11km or 6km .
The distance between M and P is the same as the distance between M and S.

Statement:

V&#H Q;S?% Q; M &@ P; S &$ M; T ?# P; V@# M

©

&
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distance between T and M?

A. 5km

B. 8km

C. 10km

D. 6km

E. 12km

2) If Y is 3km east of T, then what is the direction of Y with respect to V?
A. ©#

B. %#

C.%

D. @

E. Either b or c

BLOOD RELATION

Eleven personsviz.D,E, F, G, H, |, J, K, L, Mand N are from the same family
with three generations, but not necessarily in the same order. The number
of females is one more than the number of males in the family. M is the
only brother-in-law of L who is married to H. K is the mother of H whereas
J is the sister of L but is unmarried. D is the wife of M and mother of F who
is the cousin of N.H is the only daughter of G who is the grandfather of N.

| is the wife of E who has only two children and one granddaughter.
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1) Who among the following are the children of I?

a)L,D
b) H, M
c)J, L
d) M, L

e) None of these

2) How is H related to M?

a) Brother

b) Sister

c) Sister-in-law

d) Cannot be determined

e) None of these

ANSWER

DIRECTION & DISTANCE

L

SET-01

Bkm

1) Answer: C

&

Bkm

2) Answer: E

Tlam

11km

i

3) Answer: A

19km /20km

Tkm/f
okm

:——--- - -

—
=
=

3

|
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v 11km 0

1) Answer: C
okm/8km
2) Answer: E M Gkm |
‘ 6km
T 8km/9km p
BLOOD RELATION
1) Answer: C Gt =" = E*
2) Answer:B /\ /\
D- = M* H-= Lt )
F* N-
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